Vol. 48 No. 12 ooooooooo

gobooood

ooouobogooooobod
—ggoobobugogooon

o o o of

oooooooooooooooooooooooooooobooOoOObOOobObOOoOoOooooo
gooooooooooooooooooOoOOOOOOO0O0ODOO0O00OO0ODbOOO0O0O0ODOOoOOO
ooboo0oo0ooooOoOooooooooobocOoOoO0oOooooooooboOoOooonoo

Thinking of Computers vs. Professional Players
— Contemporary and Future of Computer Shogi

TAKESHI ITO*

In this research, the computer Shogi and the top-professional shogi player are made to solve
the same problem, and I compared the difference in the thinking process. By comparing the
feature of the contemporary computer with thinking of top-professional player, I consider the
contemporary and the future of computer Shogi which will play a match against the near
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future top professional Shogi player.
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Table 1 Answer of computer and each subject.
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Fig.1 Next move problem: Probleml.
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Fig.2 Next move problem: Problem?2.
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Fig.3 Next move problem: Problem5.
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Fig.4 Next move problem: Problem?7.
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Table 2 Comparison of computer Shogi and professional
players.
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Fig.5 Number and speed of searching for the strength on
Shogi.
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